Chapter 15:
The Traveling Salesperson Problem

(cp. Cook, Cunningham, Pulleyblank & Schrijver, Chapter 7)
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The Traveling Salesperson Problem
Definition 15.1.

Given a finite set of n points V' and a cost c,, of travel between each pair
u,v € V, a tour (or Hamiltonian circuit) is a circuit that passes through
each point in V exactly once. The traveling salesperson problem (TSP)
asks for a tour of minimal cost w.r.t. c.
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TSP is one of the “classical”, most famous NP-hard problems. 0 Qﬂ!\%& fo

Note: Enumerating all possible tours and searching for an optimal one @d’r,e; UQ,QUQ
takes way too long. Example: ...

TSP problems frequently appear in practice, and relatively large ones can
now be solved efficiently to optimality. 389
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